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— OOoooog
plus(0,y) —y
Ry =
plus(s(z),y) — s(plus(z,y))
— OgOooood

plus(z,y) ~ 0=z ~0

e IO 2



— goooog
ge(0, ) — true

Ry = ¢ ge(s(z),0) — false
ge(s(x),s(y)) — gelx,y)

— goooon
ge(z,y) =~ true, ge(y, z) = true = ge(x, z) ~ true
e JOO3
— goooon
even(0) — true
odd(0) — false
R3 =
even(s(z)) — odd(x)
odd(s(x)) — even(x)
— goooon
even(z) ~ true = odd(z) ~ false
e 1000 4
— goooon
( even(0) — true
even(s(x))  — true <= even(x) = false
Ry = even(s(z)) — false < even(z) = true
plus(z,0) —
plus(z,s(y)) — s(plus(z,y)) )
— goooon

even(plus(x,y)) ~ false, even(x) =~ true = even(y) ~ false
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- Doooog
len([)) -0 )
len(: (x,xs)) — s(y) < len(xs) =y
plus(0,y) =y
Ry =
plus(s(z),y) — s(plus(z,y))
app([ ], zs) — s
[ app(: (z,2s),ys) — (z,app(xs,ys)) |
- O0ooooo
len(zs) = xz,len(ys) ~ y = len(app(zs,ys)) ~ plus(z,y)
e O G6
- ODooooo
Rs = Rs
- Oooooo

app(ys, zs) =~ xs = len(xs) =~ plus(len(ys), len(zs))
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Ry =

split(xz,ys) = pair(us,vs) = len(ys) =~ plus(len(us),len(vs))

— true

— false

— gt(x,y)
[]

1)

— pair

— pair(: (y,xs), zs) < split(z,ys) ~ pair(xs, zs), gt(x,y) ~ false

—0

— s(y) < len(xzs) = y
—Y

— s(plus(x,y))

(
— pair(xs,: (y,zs)) < split(x,ys) = pair(zs, zs), gt(z,y) ~ true
(




